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Epsargmib smbnisefle og seaimn 2

=) @6 CoisGar@adlds smiameildar CQupsss - 1 eab ErEUlen el
(@) i & 3T eal eme :

3) ader ellporer, ENEG QT Gengsarar @ Cridlar Resien
srieuseilen Gupsse — 1 24606 GlH&E@D

8) @m Cnisessbn Cnf Gares qapsg Q&N GlehEgaans GBIV e
grieysene GURsESEH — 1 285 BIH&HED.

#) @ CriGar@aaisr sriaes swnrs Guelile yemal Glemeror GarfseanTa

S{EDDWID .

Which of the following statements is false ?

a) Product of the slopes of two straight lines is - 1, then they arc
perpendicular

b) For any pair of perpendicular straight lines their product of the slopes is
always — 1

c)  If two non-vertical straight lines are perpendicular, then the product of the
slopeis -1

d) If the slopes of the two straight lines are same, then they are parallel.
y = 0 whmid x = - 4 g flu CpiGarPest Gau G yeief

) (0.-4) 2) (-4,0) @) (0.4) ) (4.0)
The point of intersection of the straight lines y = Dandx=-4is
a) (0,-4) bl (—-4,0) c) (0,4) d (4,0)

Osmey  eowuLTes: Qordn( Cer@ésiul@eer ol sdar b 4 Gs b,
OP = 2 @& 1§, PS = 2 Qs uS erafiley PQ et Herlo

ol D
.

Lk
=

=) 24 Qab =) 12 Qe @) 6G6ed F) 3058
For the given circle O is the centre and the radius is 4 em, OP = 2 cm, PS = 2 cm,
then the length of PQ is

T
S

B

a) 24 cm b 12 cm c) 6 cm d) 3 cm.

A PQR & RS eetug 4R e Gamawm 2lyp @uwsobaly, PO = 6 G 1A
QR = 8 Qs .1 RP = 4 Glg 1§ eredfleo PS = _

&) 2 Glg b 2) 4 Qe af @) 3 Ga.8 g} 6 Qe

In A PQR. RS is the bisector of ZR. If PQ = & cm, QR = 8 em, RP = 4 cm, then PS
is equal to -

a) 2cm bl 4dom il 3 cm dl 6 ocm.
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11. x=asinb, y=>hcosteeaila R
a b
=) a5 B= B 1 @) a? ®) b2
x2 yz
fx =asin®and y=5bcos 8, then the value of — + =—— =
~ 2 2
a b
al a®+b? b) 1 c) a? d b2
12. qu Goryrsdisinhs 285  grrsdla dlény Qeradugnesd et Caryysbld

13.

14,

2 &dlemw  45° ghmé  Gerawddla srandpri.  spupeLw S fleneu
urieneusGar® seomdledmba 146 £ o upsdle o drarg aaflé, Caryr 2 wyib

&) 308 2y) 2758 &) 2854 F) 274,

A man is 258-5 m away from a tower. His eye level above the ground is 1-5 m. The
angle of elevation of the tower from his eyes is 45°. Then the height of the tower
is

a) 30m b)  27:5:m c) 285m dl 27 m.

1 Qaif supepl wompd 1 GQed 2 wyud Cerem pth Gmifeul L a2 mememillas
ELIERETLITIIL |

21) n Qe S =) 2n Qg 152 @) 3= Qe .8 k) 2 Qe
The curved surface area of a right circular cylinder of radius 1 ¢m and height
1 em is equal to

2

al meom h}  2x em?

) 3n -::m3 d) 21:1112.

Gereidlayeien afluriimeilas Blaéfdlu wdiy 14-1 npmin estelaursdlear afss 28-4
aredflév, Glammidlen Blad Quifly wdliy

=) 425 <) 435 @) 424 F) 42-1.

The least value in a collection of data is 14-1. The range of the collection is 28-4.
Then the greatest value of the collection is

a) 42-b b} 435 c) 42-4 d} 42-1.

A whpik B eeérp @ Blepédleeila P (A ) = 025, P [ B ) = 0:05 whnb
P(AN B)=014 aeilés, P (AU B) =

) 061 <) 016 @) 014 w) 06

If A and B are two events such that P ( A ) = 025, P ( B ) = 005,
P(AMN B)=0-14,then P(AU B) =

a] 061 b) 016 c] 014 d) 0-6.
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Sifle - II / SECTION - II
(whiGluemaer : 20 ) / ( Marks : 20 )

@il s 1) Gurgsd ugs eflamasenie el wsilssab.
i) efemr eewwm 306 sa@ngiurs  alolwsllésain.  (1pse
14 efemréoafelmha gGaan 9 alamsamens Garay blaluayb.
ili)  speuGleun(p eflermalben @)yetor [ whGILe & 61 .

Note ; i) Answer 10 questions in all.

ii) Question No. 30 is compulsory. Select any 9 questions from the
first 14 questions.

iii) Each question carries two marks. 10x2 =20
A={4,.6.7 8.9} B={2 4 6} wopd C=1{1 2 3, 4, 5, 6 } eeflé
AN(BUC) omé srans.

fA=1{46789}LB={246}andC={1.2 3 4 5 6} then find
AN ({BUC). :

F=4{(12,2)013,.3)(15,8),(14,2), (17,17 )} ertip emiler 2 wpdpid 3
oy Hlueupfles (pe 2 HHSETS &IT6H018.
Write the pre-images of 2 and 3 in the function

B (0 o i s e T s A S R s 2

gités : 3x + By = 25, 7x + 6y = 30.

Solve : 3x + by = 25, 7x + 6y = 30.

3, 4 sydlusupen (pensaTsHs GHTeEm. EEUYS FWETLTLIG DTS &6,

Form a quadratic equation whose roots are 3, 4.

8 5 2 .
e [ T 4]5“%” A" wppid (AT ] S ueUhernd Hremos.
(8 B E T
T . then find A" and (A )
1 -3 4
5 =2\ (4 1
5 : [ . GTeTm 2jemlsefilen GlUhBHHenas HTewos.

3 -2\ (4 1
Find the product of the maltrices, :
5 1 L
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22. e eullLgdldar owowd (- 6. 4 ) Sieia L shlar ey el Ll gpup (pevent
afliyerefl erafles, LHODTE (pemevTenws Hresss.
The centre of a circle is at [ — 6, 4 ). If one end of a diameter of the circle is at the
origin then find the other end.

23. (7.3) (6, 1) (8 2)whge (P, 4)asua gf Geoeansrsdlda aiflosiug
SEmiohs o ddlaeh sl P-a1 whllienud sreos.

If(7,.3),(6,1), (8, 2)and (P, 4) are the vertices of a paralleiogram taken in

order, then find the value of P.

DB

L

: AD
24. AABC & DE || BC whmib = —g.AE=3~? g 15 eredllds EC sné mmaione.
A

37 Qeud

B C

N P L
In A ABC, DE || BC and e If AE = 3-7 cm, find EC.

B

sin B cos 0 ,
25. & = | erg@uens Hlneys.
cosec B sech

sin @ cos B
+ -

Prove that 1.

cosec secl
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2wy 150 Gle uf 2_eien cpey Sl allersgd sbuslar (pe Hlameurn) 1503 Gis.f
Werapeirer  Hlpemer ghuBssdpre aaila, olabes sbusdla o dfldar ghps

(B 6T G001 & 60 Héh T GTOT &

A girl of height 150 cm stands in front of a lamp-post and casts a shadow of
length 150+/3 cm on the ground. Find the angle of elevation of the top of the

lamp-post.
30 Seions GpieulLé smbiilen oy wHnD = wyb wepGu 7 Gl whpid 24 G .8
erenilen, SHEsT eueneTLITLIEnLS &HITCH0 & .

The radius and height of a right circular solid cone are 7 cm and 24 cm

respectively. Find its curved surface area.
a yerefl alleuygdler wrpur’ P&Gaw 57 wbhpd HlLalessn 684 aeaflé, spe
gl Résgreflenus srams.

If the coefficient of variation of a collection of data is 57 and its 5.D. is 6-84, then

find the mean.

35 GurElest oLadu GQsreiy speablde 7 QurElest @apun (e wer.
S5osTElNEha i Curkst snambiy wepds Geibblsfieb Gurg =g
GemuTLHn GuTments @pliusheirea HlsDesa) wrg ?

There are 7 defective items in a sample of 35 items. Find the probability that an

item chosen at random is non-defective.
=) o el GEGsrLfle S = 1275 whnib wae epiy a = 3 Glurg ellg&dlurain
d = 4 eretfiléy n-ebr wHenesré Hmetors.
Sevevgy

2) weopbu 3 Qi whopm 4 Q8 STheeTHs Qaran. @k Comenisefler
aeor geneyseile allflesdlanas srems.

a) In an arithmetic series S_ = 1275, first term a = 3, common difference

d=4. Find n.
OR
b) Find the ratio of the volumes of two spheres of radii 3 em and 4 cm

respectively.
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32,

33.

Qfley - 11X / SECTION - III
[ wéllGlustm et : 45 ) / [ Marks : 45 )

@iy s i) Guongsh ETUE ellannT e Ehdg allen welldaab,

i)  ellemm &1 Go0T 45-5 S UuTS allemwefldmeyb.  pme
14 afleorméaallellinhe gCGsaub 8 alanésamend Cara) Glaieyb,

iii)  spebGleurs ellenallb@b b WG o e

" Note : i)  Answer 9 questions in all.

i) Question No. 45 is compulsory, Select any 8 questions from the
first 14 guestions.

iii) Each question carries five marks. . 9 x5 =45
QlevesmTuL higemens LWeTUBSE A V(BN C)l=(AVBIU(A\ C)aar flopaes.
Prove A\ (BNC)=[A\B)UI[A\ C)by Venn diagram.

A={0,1.2,3}opmb B={1,3,5.7 9} eeiue @n saumsas aas. [ A — B

sredlemid sty f(x) = 2x + 1 aremd QarGéaiiulQereng. @4 snt e
i) auflengd Eemy seflesr semoin

Iii]l 2L suem enaT

iil)  spbyd Goldu.b

iv]  euenyuLb g dluaubnré Ghl&es.

Let A={0 1,2, 3}and B={1,3,5 7,9} be two sets. Let f: A — B be a

function given by f( x ) = 2x + 1. Represent this function as

i) a set of ordered pairs

ii) atable

iii) an arrow diagram

ivl a graph. I

300 &gh 500 @b ElouCuusier 11 oid au@uUBD Sobs @ud erebrs el
Gl L DLIGY ST &:IT G0OT & .

Find the sum -ﬂf all natural numbers between 300 and 500 which are divisible
by 11.
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34, 12 @sif, 13 Qsif, ... , 23 Qe sduahon apenbu Lss IJEaETES

Qe 12 &gjgrﬁ&sﬂm Glian sl UTUILIETaY & res & .
Find the total area of 12 squares whose sides are 12 em, 13 em, ..... , 23 cm
respectively.

35.  engemliufsge e
Factorize : x* - 3x% - 10x + 24,

36, &x*=12x% 4872 wax 1b Senid i (P eutdhed aafle a.  b-dler
Wl emend: S s, ;
axt o 12x%% 37a?2 ¥ ax+b 18 a perfect square, then find the values of a

and b.

2] -1 .
27 ﬂ=[2 ’SJ aefld AL - 4A + 5!2 = 0 erem rﬁ@,imfﬁ.

S :
If A=[2 SJth.en show that A® - 4A + 51, = 0.

38. AABC & qpememaet A2, 1), B(6,-1),C(4, 11 )adns. Adadlphs euemyulinifid
@& se CHTUIg e SuneTUTL enL_é &HITeisH.
The vertices of AMABC are A (2, 1 L, B(6, -1 Jand C( 4, 11 ). Find the cquation

of the straight line along the altitude from the vertex A.

39. Ulsnegev Capnsens sl Blepdl.

State and prove the Pythagoras theorem.

40, 408 s wppsiar ey Garyrsdlsn o 64 wpmd S 2 dlueupblalmpbsl GE sahisany
edlensdlent 2 #8106 ghnd Cancwmast (ponpGu 30° whmb 60° aalld, sk
edlendlar o wrsenssd sreans. sansor olasdlear o s8lWlellipha Caryrddlen
S SHE L ETET ST HemGWD ST,

From the top and foot of a 40 m high tower, the angles of elevation of the top of a
lighthouse are found to be 30° and 60° respeclively. Find the height of the
lighthouse. Also find the distance of the top of the lighthouse from the foot of the

lower.
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41. o Crptau L 2 @everdlsr euemerugiy 704 &. Ged whpd o@er 2 wupb 8 Qo
ereollde opet 2 (memeniiledr semgeremen el Lfléy srams. (= 5 )
If the curved surface area of a right circular cylinder is 704 sq. cm, and height is

22
8 cm, find the volume of the cylinder in litres. ( Take m = 5 )

42, 14 6 il b wpmid 20 8 oypapeien g ey 2 mamer augallds Gleu Hu@Glng.
Seueurny  GeulLtu@id  Curgy CaremgQu@ssiul e wedsr  dors  Lroulul G
20 x 14 f gerayseiles S lussorasd Garam. . g Cnen UTs SEmD&ESRIUL LT,

2ynCuendat 2w sres.

A cylindrical shaped well of depth 20 m and diameter 14 m is dug. The dug out
soil is evenly spread to form a cuboeid platform with base dimension

20 m x 14 m. Find the height of the platform.

43. 10, 20, 15, 8, 3, 4 aetrp yerefladeurhseailesr £l L allavsagmasds smrams,
Calculate the standard deviation of the following data :
10, 20, 15 5.3 4

14, om eoudld 10 Ceustarst. 5 sEpuy. 3 udes whnik 2 ety BDUUBEISET 2 eTenea,
slpeumiliy gpenpllss GarhGlsHeEsluufn ok UhE GlausTeaen oo SEHLIL a6
u&ens Blpwre GBUUBHeTan Blobasealemens &imemrs.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at
random. Find the probability that the ball drawn is white or black or green.

45. =) (x + 2 Juwbpp ( x - 2 ) %aﬁ‘lmsn@fﬂﬁﬁl ;:hémwaflsﬁlm;lﬂsm dapgmer, dx + Tl
genaud bliledr 6 L fimeE swomille x-a1 whHlliy(senand) s e &,

Syebevg)

=) yeretl ( - 3, 10 ) ayflure Gadand suwugn ol G sinbasila mBsd
8 =5 Syenwd sgugwre GrTGETLG e weUm[E(&amen) &ira &.

a) The sum of the reciprocals of [ x + 2 Jand [ x - 2 ) is equal to 6 times the
reciprocal of 4x + 7. Find the value(s) of x.

OR

b)  Find the equations of the straight lines passing through ( - 3, 10 ) whose
sum of the intercepts is 8.
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Ulfley - IV / SECTION - IV

{ wdliiGluasr st : 20) / [ Marks : 20 ]

erloy: 1) @odiflelle o eer geiGurg alamalamn @yean® wrbn eleomsse
Clamfé st [emerso.
i) gdCarg olaralyn 2der Gren@ wrbn elarssdldnbs
a6 allamaea CaihCls0ds Qe alamssasbesn alomLwellssay.

i) epebiblounm alaomallheh udg wElIG L sen .

Note : i) This section contains two questions, each with two alternatives.
ii}  Answer both the questions choosing either of the alternatives.

iii) Each question carries ten marks. 2% 10=20

=) 3 Gl gypapsten el sdler owvwusddpiy 9 Qs Garaeald 10
yetefleowd  @hlds. ouysellda Guba allsfibe BHOsIHCsTHs6
UENThel, Ssubilest Benbengs sambdlGa.

 ZELeug)

2) AABC e BC =508, £ A = 45° bppid 2 46 A GellBha BC &6 euampuiul L

pE&GEaT g ot 4 Ga uf aan EréGbuy A ABC ausmns.

a)  Take a point which is 9 cm away from the circle of radius 3 cm. Draw two

langents to the circle from that point and measure their lengths,
OR

b}  Construct A ABC such that BC = 5 cm, £ A = 45° and the median from A to

BC is 4 cm.

[ Flypliys / Turn over
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47. =) eueTuLDb apeun EFHs 2B —3-ain

<BjeUEU S
=) [ X 1 3 5 = | ~s
‘ y 2 6 10 14 16

Cuohma . oy Lsuaneonllés 2_aier alleurr hélig suenTLLID elsONhE) 2561 FLpsuld
)  x=4aeilé y e wdlleomus sreos.

i)  y =12 eeflés x et wEllemLs sretors.

a)  Solve the equation x> - 2x - 3 = O graphically.
OR
b) x 1 3 5 7 8 o’
y 2 g 14 16

Draw the graph for the above table and hence find
i) thevalueofy if x =4

ii) thevalueofxify=12.






